29.03.2017

r

Cummins QuickServe Online

“hserve

Online

KaTanor petanen - CBegeHus o BapuaHTe

Oon.

yCTPOWCTBO

Mpynna PucyHok Kapra Oara

BB9203-01

01.01 || bb911ga || T || 22-JAN-07

OBsuratenu

4B3.9,6B5.9, B GAS INTERNATIONAL CM556, B4.5, B4.5 CM2350 B129B, B4.5 CM2350 B147B, B4.5

RGT, B4.5S, B5.9 G, B5.9 GAS PLUS CM556, B5.9 LPG, B5.9 LPG PLUS CM556, B6.7 CM2350 B121B, B6.7
CM2350 B135B, B6.7 CM2350 B148B, B6.7 G CMOH6.0 B125, B6.7S, F3.8 CM2350 F120B, F3.8

F102, G3.9, G5.9, G5.9 CM558, ISB (CHRYSLER), ISB CM2150, ISB CM2150 E, ISB CM550, ISB

CM850, ISB/ISD4.5 CM2150 B119, ISB/ISD4.5 CM2150 SN, ISB/ISD6.7 CM2150 B120, ISB/ISD6.7 CM2150
SN, ISB/ISD6.7 CM2880 B126, ISB3.9 CM2220 B107, ISB4.5 CM2150, ISB5.9G CM2180, ISB6.7 2010 DCX
PICKUP, ISB6.7 2013 DCX CHASSIS CAB, ISB6.7 CM2150 SQ, ISB6.7 CM2250, ISB6.7 CM2350

B101, 1ISB6.7 CM2350 B103, ISB6.7 CM2350 B142, ISB6.7 G CM2180 B118, ISBE'CM2150, ISBE

CM800, ISBE2/ISBE3 CM850, ISBE4 CM850, ISD4.5 CM2150, ISD6.7 CM2880.D101,ISF2.8 CM2220, ISF2.8
CM2220 AN, ISF2.8 CM2220 EC, ISF2.8 CM2220 ECF2, ISF2.8 CM2220 F101, ISF2.8 CM2220 F117, ISF2.8
CM2220 F126, ISF2.8 CM2220 F129, ISF2.8 CM2220 IAN, ISF3.8 CM2220, ISF3.8 CM2220 AN, ISF3.8
CM2220 F103, ISF3.8 CM2220 F110, ISF3.8 CM2220 F116, ISF3.84CM2220 IAN;ISF3.8 CM2350 F109, ISF4.5
CM2220 F123,1SG11 CM2880 G106, ISG11 CM2880 G108, ISG12 CM2880 G107, ISG12 CM2880

G109, 1ISG12 G CMOH6.0 G111, QSB3.9 30 CM550, QSB3.9 CM2880 B138, QSB4.5 30 CM550, QSB4.5
CM2150 B108, QSB4.5 CM2250 B131, QSB4.5 CM2250 EC, QSB4.5CM2350 B106, QSB4.5 CM2350

B122, QSB4.5 CM2350 B144, QSB4.5 CM850, QSB5.9 30 CM550, QSB5.9 44 CM550, QSB5.9 CM2880
B115, QSB5.9 CM2880 B139, QSB5.9 CM850, QSB6.7 CM2150 B109, QSB6.7 CM2250

https://quickserve.cummins.com/qs3/portal/parts/option_detail.html?path=/qs3/parts/40/t/01.01/bb9203-01&header=false&print=true

1/4


https://qsservices.cummins.com/qshd/feedback.php?productid=1

29.03.2017 Cummins QuickServe Online
4 | \
1
bb811ga
MANbIA | CPEOHNI | BONbLUON
Rartil
View My Cart

BB9203-01

Bnok yunuHapos

Cylinder Block...(More)

Cylinders: 4

High Speed Balancer: No

water pump location: Low

Crank Gear Material: Steel

Fuel Type: Diesel premium

block: No tapped fittings:

Storm structural block: No

thrust face: 180 degrees

main bearing type: Standard

valves per cylinder: 4 rear

https://quickserve.cummins.com/qs3/portal/parts/option_detail.htm|?path=/qs3/parts/40/t/01.01/bb9203-01&header=false&print=true

2/4


javascript:swap_img('bb911ga','/rtgraphics/english/parts/bb/9/bb911ga_sm.png');
javascript:swap_img('bb911ga','/rtgraphics/english/parts/bb/9/bb911ga_md.png');
javascript:swap_img('bb911ga','/rtgraphics/english/parts/bb/9/bb911ga_lg.png');

29.03.2017

Cummins QuickServe Online

gear train provision: Yes

front gear train provision:

No

Front PTO Provision: Yes

tappet diameter: 30mm block

oil pan flange bolt pattern

spacing: 60mm block oil pan

flange bolt pattern width:

299mm block oil pan flange

bolt pattern quantity: 16

components included in oil

pan flange bolt pattern

block: Yes rear gear

housing: Yes oil pump: No

front gear cover: Yes cast

rear drive provision: No

Additional Rear Structural

Member: No threaded plug:

3678923 may be used in place

of 3977851

3680420 may be used in place

of 3977853

3089567 may be used in place

of 3977854

3678873 may be used in place

of 3977855 grounded stud (

3936352) location: Fuel pump

side: Hole # 2008 exhaust

side: Hole # 5025.

1 3936352

Studded Flange Cap Screw

2 3902343

Ring Dowel

https://quickserve.cummins.com/qs3/portal/parts/option_detail.html?path=/qs3/parts/40/t/01.01/bb9203-01&header=false&print=true

3/4



29.03.2017 Cummins QuickServe Online
3 3902460 Hexagon Flange Head Cap Screw 9 M10 X 1.50 X 25.
4 3949830 Round Head Cap Screw 1 M10 X 1.50 X 25
5 3970102 Cylinder Block Stiffener 1
6 3977851 Threaded Plug 1 M10 X 1.00 X 11
7 3977853 Threaded Plug 1 M14 X 1.50 X 15
8 3977855 Threaded Plug 1
4934322 brnok unnuHgpos 1 Serviced as 4955475

9 3900956 Expansion Plug 2 17.73 mm
10 3905401 Expansion Plug 2
1" 3007635 Expansion Plug 1
12 3927948 Fracture Resistant Screw 10
13 3940059 Brynka 2

3974157 Main Bearing Cap 4
14 3900068 || Ring Dowel 2
15 3974156 | Main Bearing Cap 1

3974159 Main Bearing Cap 1
14 3900068 || Ring Dowel 2
16 3974158 |[ Main Bearing Cap 1
17 4934319 Bnok uunuHapoB 1
18 4938189 Expansion Plug 4

4955475 Cylinder Block Kit AR

OBKA k

https://quickserve.cummins.com/qs3/portal/parts/option_detail.html?path=/qs3/parts/40/t/01.01/bb9203-01&header=false&print=true

4/4


https://quickserve.cummins.com/qs3/qsol/terms.html
https://quickserve.cummins.com/qs3/qsol/system_requirements.html

